KT RFHMY

N

COMPACT CYLINDER No.E-1114
J— SZ ~
& [E 5/ N BY i L
ORE/EE (0.8~25MPa) #E4I
WK
NS PCSA0160  PCSA0221  PCSA0241  PCSA0301 PCSA0361  PCSA0451  PCSA0551
ITIERS S M L:S M L:S M L:S M L:S M L:S M L:S M L
T2 mm|6 1016 6 10:16: 8 :12:20: 8 :12:20:10:16:25:10:16:25:12:20: 32
HEHH GTEARK) KN | F=(0.050xP)-0.024 : F=(0.113%P)-0.041 : F=(0.154%P)-0.060 : F=(0.254xP)-0.099 : F=(0.394xP)-0.150 : F=(0.707%P)-0.319 : F=(0.990P)-0.452
HELER cm? 0.5 1.1 1.5 2.5 39 7.1 9.9
HELAR cm3|0.3:0508:0.7:1.1:1.8:1.2:1.8 3.1: 2 :13.1.5.1:39:6.399:7.1:113177:11.9:198 317
ERMA N|125~235:257~41.2  32.6~59.7 1 50.1~99.1 : 79.4~150 : 157~319 : 236~452
BARIEEN MPa 25
w®/INTIEEA MPa 0.8
it FE MPa 37.5
ERRE C 0~70
BEE kg |0.03:0.04:0.05:0.06:0.08:0.1:0.08:0.1:0.15:0.15:0.2:0.3:0.3:0.4:0.5:0.5:0.6:0.8:0.8:1.0:1.3
EEED 1piEE GTEAR) PRFSFAmRESEE KN) . PASLARE (MPa) .
mEE—%

TS e TS e TS e TS g
114438 PCSA0160-S 114441 PCSA0221-S 114444 PCSA0241-S 114447 PCSA0301-S
114439 | PCSA0160-M 114442 | PCSA0221-M 114445 | PCSA0241-M 114448 | PCSA0301-M
114440 PCSA0160-L 114443 PCSA0221-L 114446 PCSA0241-L 114449 PCSA0301-L

TS e TS e TS e
114450 PCSA0361-S 114453 PCSA0451-S 114456 PCSA0551-S
114451 PCSA0361-M 114454 | PCSA0451-M 114457 | PCSA0551-M
114452 PCSA0361-L 114455 PCSA0451-L 114458 PCSA0551-L

WY R MA A omsHF
\ (G
iy
L
N KALJ G H
P 7 FA
idi= PCSA0160 PCSA0221 PCSA0241 PCSA0301 PCSA0361 PCSA0451 PCSA0551
ITERES S ML S ML S ML S ML S ML S ML S ML
1742 6 10:16: 6 :10:16: 8 :12:20: 8 :12:20 :10:16:25:10:16:25:12:20: 32
A (BFRR T X $286) M16X%X1.5 M22X%1.5 M24x1.5 M30x%1.5 M36%X1.5 M45X%1.5 M55X2
B 14.3 20.3 22.3 28.3 34.3 43.3 52.6
C 7.5 11.2 13 17 19 28 34.5
D 8 12 14 18 22.4 30 355
E 15.5 21.2 24.5 30 35.5 45 55
FA 35 :41 50 35 :43 56 395 47 635435525 72 51 64 85 59 72945 64 795102
G 18.5:245:335: 13 1 21 : 34 :1175: 25 1415 18 : 27 146.5:23.5:36.5:57.5: 23 : 36 :58.5: 27 425 65
H 6 8 8 9 10 12 12
J 5 7 7 8 8 12 12
KA 55 7 7 8.5 9.5 12 13
L 4 5.5 55 7 8 10 11
MA (ABRTXEE) | M5X0.8X8 = M6X1.0X7 = M6X1.0X7 MB8X1.25X10 M8x1.25X10: M10X1.5X11 M12X1.75%12
N 7 10 10 14 17 24 30
P 14 19 22 27 32 41 50
y AS568- AS568- AS568- AS568-
OZYIR 1BP9 015(90°) 017(90°) 020(90°) 120(90°) 1BP31.5 1BP39

http://www.nabeya.co.jp



BZEMIRT
//A
3ol o
s =Sl
1 RO.4 ez
© max.H
U
B PCSA0160 PCSA0221 PCSA0241 PCSA0301 PCSA0361 PCSA0451 PCSA0551
A (DR X 288) M16X1.5 M22X1.5 M24X%1.5 M30x1.5 M36X%X1.5 M45x1.5 M55X2
H 6 8 8 9 10 12 12
T 14.5 20.5 225 28.5 345 43.5 53
U &N [12 12 12:14 14 14 14 14 1415 15 15:16 16 16:18 18 18:20 20 20
(BX) |23 29 38:20 28 41 24 32 48 :26 35 54 32 45 66 :34: 47 69 38 53 76
\ 3 3 3 6 6 8 8
W 0 35 55 6 8 10 13
il C1 : C1 : C1 : C1 : C1 : C1 : C1.5
Wz {EEA WEES &R
PCSA PCSA
10 0551 0451 pC5A0361 60
s / ,/ 50
Z6 / // / /, PCSA\O\‘3Q1 240
gg / / ‘\\3&130
Ea /S // peshontl ARt
RV = e
=" —
0 ol PCSA0T60
. 0 5 10 15 20 25 0 5 10 15 20 25
AR 08 awE (MPa) 08 @wamE (MPa)
R (AR gizey
EEEBENGERTEAER  BARERE. AEERENER

HE, CEERARE) TEhfE, CRERBRS)

fE Al

\ EEETES LP.465, \

AIEER THCADHIE. HITEFEIMA.

BT O

KT RFHMY



